749

BIFE / Product Number

AUX - -

F view
W=tk D~Ti&

H~i%

H dimension W dimension

D dimension

BT =hJ)LT—74 / Technical Datall

#B{ThILY / Recommended torque : 0.3N=m ~ 0.6N*m

A

TILZR

Aluminium Feet

EHE X{L#% / Original trapezoid head screw specification

EX P /H)

Screw (P or H)

® (=

itk

Color Type

HERLANZ / Components
No. 2 %5 / Part name #E / Pcs #'&E / Material - RmEME / Color-Finish
' a—+—Javy 4 TILEF L Fv X+ ADC12 DIVIR— TSy - B (RERRLIE)
Corner block Diecast aluminium ADC12 Silver , Black-Painted (Unfinished inside)
9 Btk 4 TIVSIRHIA A6063S-T5 DIWIN— , TZ9Y-TILIA O T EE
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
s HiN— : 7 )LZHR A1100P DIWIR—, TTZ9Y-TILIAh
Top cover Aluminium A1100P Silver , Black* Anodized
4 Thi— ’ 7 JLZHR A1100P DIN—  TF9T-TILIAh
Bottom cover Aluminium A1100P Silver , Black*Anodized
5 TILZRE 4 FILZ & Pard L DIWN— TS FILIA & TI9Y
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
6 ER{FE R (MMM3 x 8) 1 &% ZYTILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
; B{TER (E#M3 x 5) - £ LAy R OA—+
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
8 BAER (/812 KM4 x 8) 4 oS =HEE/AA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate

E‘ 752 / Phillips 73 / Hexagon—socket
& 1t#Hk / Color Type
i85 / Code 3—7F—7 0% / Corner block {BI#R / Frame $H/3— / Top cover | T#/3— / Bottom cover | ZJILZE / Aluminium feet
S S < )LsN— / Silver < JLsN— / Silver < JLsN— / Silver < )LsS— / Silver < )Ls\— / Silver
S B 7594 / Black < )Lsx— / Silver < )L13— / Silver < )Lsx— / Silver < )LsS— / Silver
B X J5v7% / Black 75974 / Black L )LIR— / Silver 2 )LsR— / Silver 2 JLsR— / Silver
B B 7597 / Black 7594 / Black 7594 / Black 7594 / Black 75974 / Black

a4/ Title
TAKACHI| HHASHENTFERIE 7IILEarka—LiRyI R @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
&R/ Approved 18X/ Checked #[X/Created FIF /Product number RE/Scale
iR x fif] A AUX149-43-36A0-0O01

R—/Page

YERZ B /Date 2025/06/11

1/ 6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




352

B-B(1:65)

127

D view

360+0.5

10.5 149+0.5

142

B view

E view
430+0.8
B —
fo )
A
< D
B —
A view
C
- —
A-A(1:65)
422

C view

F view

™
™
o le of?
e
383
a4/ Title
TAKACHI| ®%X&#t5hFERITE 7 LEavkO— LRy R () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
&R/ Approved 18X/ Checked #[X/Created FIF /Product number RE/Scale
1:6.5
iR e A AUX149-43-36A0-0O01 v
1ERK B /Date 2025/06/11 2 /6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A {Blfk / A Frame

380 225
(s

2 ~

= T
3
=

M3
S 5
2-M3FH37%
M / Front side 2-M3 Countersunk
X xtmEEFE 4k / Same on the other side.
B {84k / B Frame

="
=

k?
G

M / Front side

3.3

3.3

ZEM / Back side

%M / Back side

a4/ Title
= -
TAKACHI| Bt ahFERTE IR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 3%/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale
1:3
iR E: B e
H149 - W430 1ERK B /Date 2024/05/15 3 /6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C {l#® / C Frame

148

14

ZME / Front side

D {8l#% / D Frame

M / Front side

310

2-M3FAHIR
2-M3 Countersunk

¥ RXEEE4HR / Same on the other side.

141.7

225

3.3

33

ZZ M / Back side

ZZm / Back side

4/ Title
TAKACHI| BXESH4hFERIE {84 (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:3
iR £ FiE:N R—/Page
H149 - D360 {ERX B /Date 2024/05/15 4 /6

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




419.4

4-R14.7 400 6-24.5 2

349.4
330

fREES — A

Surface protective film side

B#hti% / Max dim. 313+05

B#~TiE / Max dim. 383+05

@ / Front side ZEM / Back side

4/ Title
BRRUINTFERTE 15— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
A& 3/ Approved 1] /Checked #1[X]/Created R /Product number RE/S-ICje
thiR 3 i e
W430 - D360 {ER B /Date 2022/11/16 5/ 6
AHEOEFEEIIHRASHINFERIXICIZRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
< o =
[=2] ™ —
S 8

@ / Front side

4194

400

3714

B#TiE / Max dim. 383+05

6—24.5

H#~ti% / Max dim. 313+0.5

4-M4

fREES—HA

Surface protective film side

ZEM / Back side

4/ Title
TAKACHI| BASHIAFEHRIE THhi— (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:4
iR £ 4t R—/Page
W430 - D360 {ERX B /Date 2022/11/16 6 / 6

AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	AU(X)149-43-36A.pdf
	3.pdf
	AU(X)149-43-36A

